
SAP ABAP table GLPCP {EC-PCA: Plan Line Items}

GLPCP

RCLNT [CLNT (3)]

GL_SIRID [CHAR (18)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

RBUKRS [CHAR (4)]

RPRCTR [CHAR (10)]

RFAREA [CHAR (16)]

KOKRS [CHAR (4)]

RASSC [CHAR (6)]

EPRCTR [CHAR (10)]

ACTIV [CHAR (4)]

SBUKRS [CHAR (4)]

SPRCTR [CHAR (10)]

SFAREA [CHAR (16)]

DOCTY [CHAR (2)]

REFACTIV [CHAR (4)]

WERKS [CHAR (4)]

GSBER [CHAR (4)]

KOSTL [CHAR (10)]

LSTAR [CHAR (6)]

AUFNR [CHAR (12)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

MATNR [CHAR (18)]

BWKEY [CHAR (4)]

BWTAR [CHAR (10)]

ANBWA [CHAR (3)]

KUNNR [CHAR (10)]

RMVCT [CHAR (3)]

PS_PSP_PNR [NUMC (8)]

KDAUF [CHAR (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

AWTYP [CHAR (5)]

LOGSYS [CHAR (10)]

STAGR [CHAR (6)]

REP_MATNR [CHAR (18)]

CO_PRZNR [CHAR (12)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

 GLPCP-ANLN2 = ANLA-ANLN2 
0..N

{0,1}

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 GLPCP-ANLN1 = ANLH-ANLN1 
0..N

{0,1}

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 GLPCP-AUFNR = AUFK-AUFNR 
0..N

{0,1}

CBPR

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

PRZNR [CHAR (12)]

DATBI [DATS (8)]

 GLPCP-CO_PRZNR = CBPR-PRZNR 
0..N

{0,1}

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 GLPCP-EPRCTR = CEPC-PRCTR 

0..N

{0,1}

 GLPCP-RPRCTR = CEPC-PRCTR 0..N

{0,1}

 GLPCP-SPRCTR = CEPC-PRCTR 
0..N

{0,1}

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 GLPCP-KOSTL = CSKS-KOSTL 
0..N

{0,1}

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 GLPCP-LSTAR = CSLA-LSTAR 
0..N

{0,1}

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 GLPCP-KUNNR = KNA1-KUNNR 

0..N

{0,1}

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 GLPCP-MATNR = MARA-MATNR 

0..N

{0,1}

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 GLPCP-PS_PSP_PNR = PRPS-PSPNR 

0..N

{0,1}

T000

MANDT [CLNT (3)]

 GLPCP-RCLNT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 GLPCP-RBUKRS = T001-BUKRS 

0..N

1

 GLPCP-SBUKRS = T001-BUKRS 0..N

{0,1}

T001K

MANDT [CLNT (3)]

BWKEY [CHAR (4)]

 GLPCP-BWKEY = T001K-BWKEY 
0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 GLPCP-WERKS = T001W-WERKS 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 GLPCP-RUNIT = T006-MSEHI 
0..N

{0,1}
T022

ACTIVITY [CHAR (4)]

 GLPCP-ACTIV = T022-ACTIVITY 
0..N

1  GLPCP-REFACTIV = T022-ACTIVITY 0..N
{0,1}

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 GLPCP-BWTAR = T149D-BWTAR 

0..N
{0,1}

T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]

 GLPCP-RMVCT = T856-TRTYP 

0..N

{0,1}

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 GLPCP-RASSC = T880-RCOMP 

0..N

{0,1}

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 GLPCP-RLDNR = T881-RLDNR 

0..N

1

T889

MANDT [CLNT (3)]

DOCTY [CHAR (2)]

 GLPCP-DOCTY = T889-DOCTY 

0..N

1

T8A60

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

REP_MATNR [CHAR (18)]

 GLPCP-REP_MATNR = T8A60-REP_MATNR 

0..N

0..N

TABW

MANDT [CLNT (3)]

BWASL [CHAR (3)]

 GLPCP-ANBWA = TABW-BWASL 

0..N

{0,1}

TBDLS

LOGSYS [CHAR (10)]

 GLPCP-LOGSYS = TBDLS-LOGSYS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 GLPCP-RTCUR = TCURC-WAERS 

0..N

{0,1}

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 GLPCP-RFAREA = TFKB-FKBER 

0..N

{0,1}

 GLPCP-SFAREA = TFKB-FKBER 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 GLPCP-GSBER = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 GLPCP-KOKRS = TKA01-KOKRS 

0..N

1

TKA03

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

STAGR [CHAR (6)]

 GLPCP-STAGR = TKA03-STAGR 

0..N

1

TKVS

MANDT [CLNT (3)]

VERSI [CHAR (3)]

 GLPCP-RVERS = TKVS-VERSI 

0..N

1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 GLPCP-SPART = TSPA-SPART 

0..N

{0,1}

TTYP

AWTYP [CHAR (5)]

 GLPCP-AWTYP = TTYP-AWTYP 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 GLPCP-VKORG = TVKO-VKORG 

0..N

{0,1}

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 GLPCP-VTWEG = TVTW-VTWEG 

0..N

{0,1}

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 GLPCP-KDAUF = VBUK-VBELN 

0..N

{0,1}


